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QUESTION 1

Where is the VSI RecoverPoint Management Plug-In for vSphere 5.5 installed?
A. vSphere Client

B. vCenter Server

C. RPAs

D. SRM Server

Correct Answer: A

QUESTION 2

A Storage Administrator with a VNX Unified solution is using the CLI to monitor a highly specific view of daily storage
performance. They must type long commands to examine the desired statistical information. You have been asked to
accelerate this task.

What is the most suitable solution?

A. Create user-defined statGroups

B. Use Unisphere Statistics for File

C. Use Celerra Monitor Tool

D. Collect statistics from log files

Correct Answer: A

QUESTION 3

A customer configures SnapView clones on their EMC VNX. A 512 GB clone is fractured for 5 minutes. The source LUN
performs fifty 16 KB random writes per second. The clone resynchronization is configured to 6 MB/s. How long will it
take to resynchronize the clone?

A. 21.0 minutes

B. 35.0 minutes

C. 10.5 minutes

D. 60.0 minutes

Correct Answer: C

QUESTION 4
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A customer has a highly active ordering application with a R/W ratio of 2:1. The application peaks at about 16,000
application IOPS during the day.

What is the minimum required number of eMLC Flash drives and 15K SAS drives needed in a R5 storage pool to meet
the performance requirements?

A. 80 SAS drives, 5 Flash drives
B. 90 SAS drives, 5 Flash drives
C. 140 SAS drives, 5 Flash drives
D. 165 SAS drives, 5 Flash drives

Correct Answer: A

QUESTION 5

A customer configures an Incremental SAN Copy session between a 500 GB LUN and a 550 GB thick LUN on a new
DR VNX. The reserved LUN pool has 50 GB of free space. The source VNX has registered with the DR VNX. The SAN
Copy session does not start. What is the cause of the issue?

A. There is insufficient reserved space.

B. The SnapView enabler is not installed.

C. SAN Copy between a thin and thick LUN is unsupported.

D. Destination LUN is a 550 GB thick LUN.

Correct Answer: A
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